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Hilfekarte 2 

 
 
 
 

Bezugspreis (Einstandspreis)  100,00  100 %         

+ Handlungskosten 20 % (vom Hundert) 20,00  + 20 %         

= Selbstkosten  120,00  = 120 %  100 %       

+ Gewinn 10 % (vom Hundert) 12,00    + 10 %       

= Barverkaufspreis  132,00    = 110 %  98 %     

+ Kundenskonto 2 % (im Hundert) 2,69      + 2 %     

= Zielverkaufspreis  134,69      = 100 %  95 %   

+ Kundenrabatt 5 % (im Hundert) 7,09        + 5 %   

= Nettoverkaufspreis  141,78        = 100 %  100 % 

+ Umsatzsteuer 19 % (vom Hundert) 26,94          + 19 % 

= Bruttoverkaufspreis  168,72          = 119 % 
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